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P(X =3)=19C3 x 0.5% x (1-0.5)19-3 =0.117

« ERD 8 —eR| V(X) =np(1-p)
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« =combin(n,r)

« =fact(n)/fact(r)/fact(n-r)
*P(x) =nCrp"(1-p)™ ™"
*E(x) =np,Var(x) =n(1—p)p
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« IRGE : FIEDRE  =T.DIST(A1,1,FALSE)

c FITE : DB D&TE : =F.DIST(A2,6,4,FALSE)

s XURTE I DHOBRE BOEORE -
=CHISQ.DIST(A2,1,FALSE)
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o %38 : =FORECAST.ETS(A13,$B$2:$B$12,$A$2:$A$12,1,1)

PR
=C13+FORECAST.ETS.CONFINT(A13,$B$2:$B$12,$A$2:3A$
12,0.95,1,1)

+ TBR=C13-
[l:(i)RECAST.ETS.CONFINT(A13,$B$2:$B$12,$A$2:$A$12,0.95,

IFs2=IF(H4>=230,"A"IF(H4<200,"C","B"))
B AEEA 23 08ME= A 200~230%=B  200F=C
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iz 38 76 61 225B
LA 67 70 71 208B
I 78 61 58 197C
[i=b 77 60 91 228B
#HA 53 71 64 188C
L 69 67 55 191C
= 81 71 69 2218
H 92 81 71 244A
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« ExcelB8#x :
sum,max,min,count,rank.eq,round,countif,sumif,vlookup,
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